P.7 Absolute Value Inequalities
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Absolute Value Inequalities
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To solve absolute value inequalities:

(1¢(-d28
1. Isolate the absolute value on the left. +d 1
2. Decide 1f you have a ¢! w inequality
3. Write the inequalities. bﬁ@’ M
4. Solve the inequalities. » \
g Graph to find "and" intersection / "or union"
. Check your answer 1n the original problem
7. Write the answer 1n interval notation.







23|47 < 28



Solving Quadratic Inequalities

Al

1. Make right side of the inequality O

2. Decide if you have an "or" or "and"
inequality d <

3. Solve the quadratic equation

4. Graph the quadratic and decide which

values are above or beIoM X-axIS !
.

5. Write In interval notation

Great"or" = Above x-axis

Less th"and" = Below x-axis
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Find solutions by graphing
X +2x° =120



